—Darker
T ACCESSORIES

Parker Kart _
Fire Sleeve



Hose
Hydraulic

>

Catalog 4400 KR

Equipment

Visual Index

Fitting

W

Equipment

@

Technical

m

Hydraulic
Flanges

Standard Pressure D-3

(Code 61)

HighPressure
(Code 62)

50H D-4

5050HK

g

m@
" am®

Kj.

i

A — = y
+ 5 T s
1 7
Flange Half Flange 5000 psi
5000 psi (Code 61) (Code 61) Kit
51H D-4 | 5151HK D-4 | HFH D-5 | HFHFHK D-5 | 8FH D-5
i g L
‘ N | o - | (O Q) . B, | ¢ ()
(@) ) WO Sy \_// \\—t/ ?ﬂo S N/ ot/
N 2/ 4 _J) = - =) ey
J =] ’/ J =] ’/
~ g
Flange Half (Code 61) Flange (Code 61) Kit Flange Half (Code 62) Flange (Code 62) Kit Flange Half (8000) Kit
8FHFHK D-5 | M1H D-6 | MIM1HK D-6 | M2H D-7 | M2M2HK D-7

i

C

0O-Rings for Compression
Fittings (IT 126)

[ =) e ) Pl |
NS/ YA _/) ?J f 0\ Q7 AN < ( ) Q {
=y _ /_I E._/[ \/)/1
t/[ S 7/ ' S/
Flange Kit (8000psi) ISO (Code 61) ISO (Code 61) Kit ISO (Code 62) ISO (Code 62) Kit
711509 D-8 | 711510 D-8 | C9RG D-8 | C9RG D-8
r\ e
@ O-Rings for CA, CE, CF O-Rings for C9, OC, 1C
Metric Metric Swivels
DIDT D-8 | JORG D-9 | XARG D-9 | 8ARG D-9 | 59RG D-10
_ _ | _
) /| \ ( )
() () B [
~— — ~— — A \ | ~— —
‘7 7’ i ) N ‘7 7'
=
Bonded Seal for Flange "D" Rings ) Tube O-Ring Fittings and
BSPP Port Fittings Caterpillar® Style Flanges Flange "D" Rings Compressor Fittings
T1RG D-10|CORG D-10 Partek Sleeve D-11 | Firesleeve (FS-F) D-12
E @)
( ) P e | -
— S = 7

(F)mk7t st E
Zic SHAA| FAS 21584%|

Tel: 055-371-3300 Fax:055-389-0111
http://www parker.com/korea



Catalog 4400 KR

SAE Code 61 and Code 62 Flange Halves and Kits

SAE J518 port dimensions for 4-Bolt Split Flanges

SAE Split Flanges?| &/ ;

a, EFE & 3E 612 ZH 3,000psi ~ 5,000psi7tX| &Zgt|Ct,
b, gt fe= A E 62 37|94 27|910] |0 6,000psi7kX]| X Zeh
Flange2| =0l "V'7}F EAIZ|0 AU CE

0| &2 Flange Halves®} Flange Kits2| 12 2lal| Z05HMAI2.

Equipment

Hose
Hydraulic

>

Standard Pressure (Code 61) <—D—
A Maximum
Dia B Working
Nominal Flange Max Thread Pressure
Dash _ +£0.010 +0.25 40,010 +£0.25 .
Flange Size inch mm inch nmm inch mm inch psi MPa
1/2 -8 0.50 13 5/16x18 1.50 38.10 0.68 17.47 5,000 34,5
3/4 -12 0.75 19 3/8x16 1.88 47 63 0.87 2222 5,000 34,5
1 -16 1.00 25 3/8x16 2.06 52 37 1.03 26.18 5,000 34,5
11/4 -20 1.25 32 7/16x14 2.31 58,72 1.18 30,17 4,000 27,6
11/2 -24 1.50 38 1/2x13 275 69.85 1.40 35,71 3,000* 20,7
2 -32 2.00 51 1/2x13 3.06 7777 1.68 42 87 3,000* 20,7
0| : *4A, 4F, 4N T|El 2} 50H Flange Halves= 5,000psi®|L|C},
=
[4)
€
a
=
S
i}
High Pressure (Code 62)
A Maximum C
Dia B Working
Nominal Flange Max Thread Pressure
Dash _ +£0.010 +0.25 40,010 +£0.25 .
Flange Size inch mm inch nmm inch mm inch psi MPa
3/4 -12 0.75 19 3/8x16 1.88 47 .75 0.88 22 35 6,000 41,4
1 -16 1.00 25 7/16x14 225 57.15 1.09 27,76 6,000 41,4 "
11/4 -20 1.25 32 1/2x13 263 66.67 1.25 31,75 6,000 41,4 .ﬂc’
11/2 -24 1.50 38 5/8x11 3.13 7937 1.43 36.49 6,000 41,4 7
2 -32 2.00 51 3/4x10 3.81 96 .82 1.75 44 45 6,000 41,4 §
<
5000 psi Flange Half (Code 61)
i A
SAE Maximum ! | |
# Flange Working | R i
Part Size A B c Pressure | =
Number inch inch inch inch inch | o ] 2
50H-20 1-1/4 2.31 0.55 0.47 5,000 —__/_}7 S <
50H-24 1-1/2 2.75 0.66 053 5,000 B \U ﬁ
50H-32 2 3.06 0.80 0.583 5,000
C DIAMETER
ZF9| : 4A, 4F, 4N Flangedi| AF2EL|C}
()7t ot E 7
it LA FMS 21581K]
D-3 Tel : 055-371-3300 Fax : 055-389-0111

http://www parker.com/korea



Catalog 4400 KR Equipment
SAE Code 61 Ports Flange Halves and Kits
5050HK
2 5000 psi Flange Kit (Code 61)
(3]
25 SAE | Maximum | (2) (4) Bolts (4)
TT # Flange | Working | Flange ) Grade 8 Lock ] ) -
Part Size Pressure | Halves | O-Ring | Thread Length (Washers s N d
A Number inch inch inch inch
5050HK-20 1-1/4 5,000 50H-20 [711510-3| 7/16x14 | 1-1/2 7/16 =) O
5050HK-24 1-1/2 5,000 50H-24 |711510-2| 1/2x13 | 1-1/2 1/2 gi D
5050HK-32 2 5,000 50H-32 |711510-1| 1/2x13 | 1-1/2 1/2
ZF=9| : 4A, 4F, 4N Flange of| AF2E|L|C},
2
Z 51H
SAE Flange Half (Code 61)
B SAE Maximum i -
# Flange Working |
Part Size A B C Pressure |
Number inch inch inch inch inch
51H-8 1/2 1.50 0.31 0.34 5,000
51H-12 3/4 1.88 0.40 0.41 5,000
51H-16 1 2.06 0.48 0.41 5,000 _T'
E 51H-20 1-1/4 231 0.56 0.47 4,000 A DAMETEDR —
£ 51H-24 1-1/2 2.75 0.67 053 3,000
g 51H-32 2 3.06 0.81 0.53 3,000
S 51H-40 2-1/2 3.50 0.96 0.53 2,500
5151HK
. SAE Flange Kit (Code 61)
2 SAE | Maximum | (2) (4) Bolts @)
g # Flange | Working | Flange ; Grade 8 Lock
< Part Size Pressure | Halves | O-Ring | Thread | Length |Washers
Number inch inch inch inch
5151HK-8 1/2 5,000 51H-8 [711510-6| 5/16x18 | 1-1/4 5/16
N 5151HK-12 3/4 5,000 51H-12 |711510-5| 3/8x16 | 1-1/4 3/8
5151HK-16 1 5,000 51H-16 |711510-4| 3/8x16 | 1-1/4 3/8 o
5151HK-20 1-1/4 4,000 51H-20 |711510-3| 7/16x14 | 1-1/2 7/16 /ﬁ m @
5151HK-24 1-1/2 3,000 51H-24 |711510-2| 1/2x13 | 1-1/2 1/2 - = = =
5151HK-32 2 3,000 51H-32 |711510-1| 1/2x13 | 1-1/2 1/2 =4
5151HK-40 2-1/2 2,500 51H-40 |711510-7| 1/2x13 1-3/4 1/2 -
5151HK-48 3 2,000 51H-48 |711510-8| 5/8-11 | 1-3/4 5/8
.‘_5
£
(8]
kS
E
()7t ot E 7
Fict LA FAS 215817
m D-4 Tel: 055-371-3300 Fax : 055-389-0111
http://www parker.com/korea




Catalog 4400 KR

Equipment

SAE Code 62, 8000psi, Flange Halves and Kits

SAE Flange Half (Code 62) 2
' g
SAE Maximum | ""‘ | 25
# Flange Working | | ! T
Part Size A B C Pressure | |
Number inch inch inch inch inch l . A
HFH-12 3/4 2.00 043 0.41 6,000 - a
HFH-16 1 2.25 0.51 047 6,000 B
HFH-20 1-1/4 2,62 0.59 0.583 6,000 T
HFH-24 1-1/2 3.12 0.68 0.66 6,000 C DIAMETER
HFH-32 2 3.81 0.84 078 6,000
SAE Flange Kit (Code 62)
SAE Maximum (2) (4) Bolts (4)
# Flange | Working | Flange ; Grade 8 Lock
Part Size Pressure | Halves | O-Ring | Thread | Length (Washers
Number inch inch inch inch
HFHFHK-12 3/4 6,000 HFH-12 (711510-5| 3/8x16 1-1/2 3/8
HFHFHK-16 1 6,000 HFH-16 |711510-4| 7/16x14 | 1-3/4 7/16 (e )
HFHFHK-20 1-1/4 6,000 HFH-20 [711510-3| 1/2x13 1-3/4 1/2 j
HFHFHK-24 1-1/2 6,000 HFH-24 (711510-2| 5/8x11 2-1/4 5/8 -
HFHFHK-32 2 6,000 HFH-32 [711510-1| 3/4x10 2-3/4 3/4 s
g
=
S
i}
Flange Half (8000psi)
|
SAE Maximum [ 'T‘ |
# Flange Working ' |
Part Size A B c Pressure | ;R |
Number inch inch inch inch inch | | "
8FH-12 3/4 2.00 0.43 0.41 8,000 = A I B =1 2
. . : s 7 I 4 ] =
ASTgup s
C DIAMETER §
Flange Kit (8000psi) D
SAE Maximum (2) (4) Bolts (4)
# Flange | Working | Flange ; Grade 8 Lock
Part Size Pressure | Halves | O-Ring | Thread | Length (Washers
Number inch inch inch inch
8FHFHK-12 3/4 8,000 8FH-12 | 8ARG-12| 3/8x16 1-3/4 3/8
©
2
c
e
(5]
)
'_
()7t ot E 7
i AMA| RS 21581K]
D-5 Tel : 055-371-3300 Fax : 055-389-0111

http://www parker.com/korea



Catalog 4400 KR Equipment
DIN and ISO Metric Ports, Flange Kits

DIN and ISO Metric Ports

(8]

E DINZ} ISO Flange | == SAE Flange sl £t Z*5L|Ct H| otAIH ZE= Z2
85 a2 6t AL DIN 2t ISO Type 12 0|2| 2EE ALEgfL{CH, 0|Z40] 0{2{ 7tX|
o> Flange Halves &40| &t E|o{ x| = 0| R &lLic},

1ISO 6162
A SAE J518 DIN 20078 Type 1
Code 61 Form R 3,5 to 35 MPa Series
Code 62 Form S 35 to 40 MPa Series
2
= M1H
[T
DIN (ISO) Flange Half
B DIN 1SO Maximum
# Flange Flange Working
Part Size Size A B C Pressure
Number inch mm mm mm psi MPa
M1H-8 8 13 38 8 9 5,000 345
M1H-12 12 19 48 10 11 5,000 345
M1H-16 16 25 52 12 11 5,000 345
= M1H-20 20 32 59 14 11 4,000 27.6 C DIAMETER
g M1H-24 24 38 70 17 13.5 3,000 207
a M1H-32 32 51 78 21 13.5 3,000 207
2
i}
DIN(ISO) Flange Kit (Code 61)
# DIN ISO | Maximum (2) (4) Bolts (4)

: Flange|Flange| Working | Flange . Lock

2 Part Size | Size | Pressure|Halves| O-Ring | Thread Length|washers

a Number inch psi | MPa mm mm

< M1M1HK-8 8 13 5,000 | 345 | M1H-8 | 711510-6 | M8x1.25 30 10

M1M1HK-12 12 19 5000 345 | M1H-12 | 711510-5 | M10x1.50 30 10 (®
M1M1HK-16 16 25 5,000| 345 | M1H-16 | 711510-4 | M10x1.50 30 10
. M1M1HK-20| 20 32 4,000 | 276 | M1H-20 | 711510-3 | M10x1.50 40 10
M1M1HK-24 24 38 3,000 | 207 | M1H-24 | 711510-2 | M12x1.75 40 12
M1M1HK-32 32 51 3,000 | 207 | M1H-32 | 711510-1 | M12x1.75 40 12
M1M1HK40 40 64 2500|172 | M1H-40 | 711510-7 | M12x1.75 45 12

©

L

c

<

(5]

(]

'_

m

=

(F)mk7t st E
Fict QA RAHE 21501%]

D-6 Tel: 055-371-3300 Fax:055-389-0111
http://www parker.com/korea




Catalog 4400 KR Equipment
ISO Flange Halves and Kits

M2H

DIN (ISO) Flange Half (Code 62) £
. ! A ; o §
# Flglr:a,e Fllasnoge “3\7:::::;" ! ! | ‘:8%
Part Size Size A B c Pressure | - i
Number mm mm mm psi MPa | 7 A
M2H-8 8 13 41 8 9 6,000 415 4_@%_4__ )
M2H-12 12 19 51 11 11 6,000 415 B
M2H-16 16 25 57 13 13.5 6,000 415 T
M2H-20 20 32 67 15 185 6,000 415 C DIAMETER
M2H-24 24 38 79 17 17.5 6,000 415
M2H-32 32 ol 97 21 22 6,000 415

M2M2HK

DIN(ISO) Flange Kit (Code 62)

# DIN ISO | Maximum| (2) (4) Bolts (4)

Flange|Flange| Working | Flange Lock

Part Size | Size | Pressure|Halves | O-Ring | Thread Length|washers
Number psi | MPa mm mm
M2M2HK-8 8 13 6,000 415 | M2H-8 | 711510-6 | M8x1.25 30 8 -
M2M2HK-12| 12 19 |6,000| 415 | M2H-12 | 711510-5 | M10x1.50| 35 10 5
M2M2HK-16| 16 25 6,000 | 415 | M2H-16 | 711510-4 | M12x1.75 45 12 g_
M2M2HK-20| 20 32 |6,000( 415 | M2H-20 | 711510-3 | M12x1.75| 45 12 'g_
M2M2HK-24| 24 38 6,000 | 415 | M2H-24 | 711510-2 | M16x2.00 55 16 w
M2M2HK-32| 32 51 |6,000| 415 | M2H-32 | 711510-1 | M20x2.,50| 70 20

C

Accessories

O

Technical

m

(F)mk7t st E
Zic SHAA| FAS 21584%|

D-7 Tel: 055-371-3300 Fax:055-389-0111
http://www parker.com/korea



Hose
Hydraulic

>

Fitting

W

Equipment

@

Technical

m

Catalog 4400 KR

711509
O-Rings - SAE Thread (Compound N552-90)*

Equipment

O-Rings

#

Part
Number
711509-1
711509-2
711509-3
711509-4
711509-5
711509-6
711509-7
711509-8
711509-9

711509-10

Tube
Dash
Size
-4
-5
-6
-8
-10
-12
-16
-20
-24
-32

Tube
0.D
inch
1/4
5/16
3/8
1/2
5/8
3/4
1
1-1/4
1-1/2
2

SAE
Thread
inch
7/16x20
1/2x20
9/16x20
3/4x16
7/8x14
1-1/16x12
1-5/16x12
1-5/8x12
1-7/8x12
2-1/2x12

inch
0.072
0.072
0.078
0.087
0.097
0.116
0.116
0.118
0.118
0,118

mm

1.83
1.83
1.98
221
2.46
2195
2.95
3.00
3.00
3.00

inch
0.351
0.414
0.468
0.644
0.755
1171
1171
1.475
1.720
2.337

711510

O-Rings - Code 61 and 62 Flanges (Compound N552-90)*

# Flange Flange

Part Dash Size w 1.D
Number Size inch inch mm inch mm
711510-6 -8 1/2 0.14 3.53 0.73 18.64
711510-9* -10 5/8 0.14 3.53 0.79 20.20
711510-5 -12 3/4 0.14 3.53 0.98 25,00
711510-4 -16 1 0.14 3.53 1.29 32,92
711510-3 -20 1-1/4 0.14 BE53) 1.48 37.69
711510-2 -24 1-1/2 0.14 3.53 1.85 47 22
711510-1 -32 2 0.14 353 223 56.74
711510-7 -40 2-1/4 0.14 3.53 273 69.44
711510-8 -48 3 0.14 3.53 3.35 85 .32

Fo|: S} QA of| AH|20]| AF2E ufjol| = Parker Hannifin Seal 20| 22|5tA|7| bt Cf,

C9RG

O-Rings for CA, CE

C9RG

O-Rings for C9, OC,

DODT

Bonded Seal for

CF Metric 1C Metric Swivels BSPP Port Fittings
# # #

Part w 1.D Part w 1.D Part w 1.D
Number mm mm Number mm mm Number inch mm inch mm
C9RG-8 15 6.0 C9RG-8 15 6.0 DIDT-4 0.54 13.7 0.81 20.6
C9RG-10 15 7.5 C9RG-10 15 7.5 DODT-6 0.68 173 0.94 23.9
C9RG-12 15 9.0 C9RG-12 15 9.0 D9DT-8 0.85 216 113 28.7
C9RG-15 20 12.0 C9RG-14 2.0 10.0 D9DT-10 0,93 236 1.25 31.8
C9RG-18 2.0 15.0 C9RG-20 2.4 16.3 DODT-12 1.06 27.0 1.38 351
C9RG-22 2.0 20.0 C9RG-25 2.4 20.3 D9DT-16 1,33 33.8 1.68 427
C9RG-28 20 26.0 C9RG-30 24 253 22| : DIDT+= Tube Fitting Division £A1 9| H 10i| whEL C},

C9RG-38 25 330 ALO|= F=7fLt AlALo]| 2HsE 242 TFDO|| 22|5HA|7| Bl Cl,

D-8

(F)mk7t st E
Zic SHAA| FAS 21584%|
Tel: 055-371-3300 Fax:055-389-0111
http://www parker.com/korea



Catalog 4400 KR

JORG

O-Rings - Seal-Lok"

Part
Number
JORG-4
JORG-6
JORG-8
JORG-10
JORG-12
JORG-16
JORG-20
JORG-24

Tube Tube

Dash 0.D

Size inch
-4 1/4
-6 3/8
-8 1/2
-10 5/8
-12 3/4
-16 1
-20 1-1/4
-24 1-1/2

SAE
Thread
inch
9/16x18
11/16x16
13/16x16
1x14
1-3/16x12
1-7/16x12
1-11/16x12
2x12

inch
0.301
0.364
0.489
0,614
0.739
0,926
1.176
1.489

w

mm

7.65
9.25
12.42
15,59
18.77
23.52
29 .87
37 .82

1.D

inch mm
0.070 1.78
0.070 1.78
0.070 1.78
0.070 1.78
0.070 1.78
0.070 1.78
0.070 1.78
0.070 1.78

Z=9| : Seal-Lokd|

Al =|

e}

Part Number= Eof 7| &l £|of ! &L|C}, O-Ring Nitrile NBR 12 2 2HE0{ X| 11 90 Durometer| 2=

ALz AU

XARG

Flange "D" Rings Caterpillar Style Flanges

Equipment

O-Rings / Flange "D" Rings

C

SAE 711509-4

¢

Seal-Lok JORG-8
aollM 2oixl= =t Zol SAE O-Ring($l)et
Seal-Lok O-Ring(ol2{)= CI& Ato|=EH= HE
o 5 AFLICH

Part Flange Dash 1.D 0.D
Number Size Size inch mm inch mm
XARG-12 3/4 -12 0.20 5.0 1.00 254
XARG-16 1 -16 0.20 50 1.25 318
XARG-20 1-1/4 -20 0.20 5.0 1.50 38.1
XARG-24 1-1/2 -24 0.20 50 1.75 445
XARG-32 2 -32 0.20 50 2.52 63.9
Flange "D" Rings for 76 Series Style Flange
-1
‘ )N
Part Flange Dash Seal Thickness Seal I.D \ )
Number Size Size inch mm inch mm . ,
8ARG-12 3/4 12 0.20 5.0 1,00 25 4 N
()7t ot E 7
it LA FMS 21581K]
D-9 Tel : 055-371-3300 Fax : 055-389-0111

http://www parker.com/korea

Hose
Hydraulic

>

Equipment

C

Accessories

O

Technical

m




Catalog 4400 KR Equipment
O-Rings

59RG

g O-Rings for Tube O-Ring Fittings

o8 and Compressor Fittings

82

T

Tube Tube Parker

A Part 0.D Dash Seal
Number inch Size Number
59RG-6 3/8 -6 2-011
59RG-8 1/2 -8 2-013
59RG-10 5/8 -10 2-015
59RG-12 3/4 -12 2-017

20| : 0-Ring 0|At2| {2 HNBR &M 22 T N1195-70
(Green){L|C},

Fitting

T1RG Charge Ports Caps

O-Ring for Compression R134a R12
Fittings (1T126)

W

Tube Tube Parker L . -|F-’y°J; .
Part 0.D Dash Seal Part Fitting Fitting Part Fitting
Number inch Size Number Number Size Shape Flow Side Number Size
= T1RG-6 3/8 -6 2-012 940199 -6 &-8 Straight High High 940249 | 7/16x20
2 T1RG-8 1/2 -8 2-014 940200 | -10&-12 | Straight High Low
g— T1RG-10 5/8 -10 2-016 940188 -6 &-8 Elbows | Standard High
chr T1RG-12 3/4 -12 2-018 940189 | -10&-12 Elbows | Standard Low

@

CORG

Captive O-Ring Assembly Tools

Fitting | Hand Type Bench Type

d Size |Part Number Part Number
< -4 CORG-4 CORG-AT04 Bench
-6 CORG-6 CORG-AT06 Bench
-8 CORG-8 CORG-AT08 Bench
) -10 | CORG-10 | CORG-AT10Bench

-12 CORG-12 CORG-AT12 Bench
-16 CORG-16 CORG-AT16 Bench
-20 CORG-20 CORG-AT20 Bench
-24 CORG-24 CORG-AT24 Bench
-32 CORG-32

Bench Type Hand Type

Technical

m

=

(F)mk7t st E
Fict QA RAHE 21501%]

D-10 Tel: 055-371-3300 Fax:055-389-0111
http://www parker.com/korea




Catalog 4400 KR Equipment

Hose Guards - Partek Sleeve

— AL
1}el =2|H - Partek Sleeve (AS-B, AS-Y or PS)
u}7}t mhe L}°'E BHS &e|H= FOIX Mol 24902 & l inside
B FLch AH#HM = ISO 6945 9| -|_-|'-jd I} Z+Ho| }EJI% ZEst @1 [Parker| PS-BX [Parker] Ps-8-x [Parker] (< ”I——Flat
2okl P'% HOZ Mo{Zl HAFEE JIX| 1 A F Ul :
-\_'LlhE_.‘IO'”A-I S" = 200 000‘?_‘|_°,| Dl’E E‘”A EO‘”E 7:‘ I:I —JF g,lﬁl—l EI‘ | See table for size / 018N0m—>J |<—
oEl M "PS"= = 50 000?'i9| o2 HAEWM 74 ':' T &4t
ol2ist BRoto] PEE B 2327} TS ot M AR EAH 252 4+ R E A
RUgLIC o 22| B ot A2 a et o] 9f Jom, 2o A Ry
S8t 5 A0 B 0] ZH 5o USLICE, T A28 op@o} B 0,868 LEtia EA'FI—I c}.
At RolM 23 w2 Bx @ 4 s s HE ol g2l Si2l0| salu ol gD
2EM:-67°Fto +248°F (-53%¢ to + 120<C)
Partek Sleeve Partek "PS" Sleeve
SS23CG 421, AX, 424
Partek SS25UL 302 (426,431,436 701
Partek Partek PS 201 301LT | 351TC/ST 721,721TC 731 801
Sleeve | Sleeve | Sleeve Inside 221FR 304 451TC/ST 772TC/ST | 78C, 781 804
(Black) |(Yellow) | (Black) Dia. 206,225 | 213 341 471TC/ST 774 782TC/ST 821 811
Part Part Part A B 244 285 [421WC 472TC 782TC/ST | 791TC 821FR 881
Number | Number | Number | inch | inch 266 293 BXX 482TC/ST 601 | 792TC/ST |792TC/ST| 831,836 | 881HT
AS-B-11 | AS-Y-11 107(069| -4 -4 -3/-4 -4
AS-B-13 | AS-Y-13 | PS-B-13 | 1.34| 0,86 -5/-6 -5/-6 -4/-5 -5/-6 -4/-5 -5/-6
AS-B-15 | AS-Y-15 | PS-B-15 | 1.66| 1.06 -8 -8/-10 -6 -8 -6 -6 -8
AS-B-17 | AS-Y-17 | PS-B-17 | 1,92 | 1,22 -10 -12 -8/-10 -10 -8 -8 -10
AS-B-19 | AS-Y-19 212|135 -12 -12 -12 -10 -10 -8 -12
PS-B-22 | 224|142 -12 -12 -12 -10 -12
AS-B-22 | AS-Y-22 | PS-B-22 | 2.24|1.42 -16 -16 -12 -12 -10 -12
AS-B-27 | AS-Y-27 255(1.63 -16 -12 -16
PS-B-33 | 2,85 1.81 -16 -12 -16
AS-B-33 | AS-Y-33 | PS-B-33 | 2.85| 1,81 -20 -20 -16 -16 -16 -16 -16
AS-Y-35 | PS-B-35 | 3.43(2.19 -24 -24 -20 -20
AS-B-37 | AS-Y-37 | PS-B-37 | 3,73 | 2,38 -20 -24 -20 -20
PS-B-39 | 412 (2,63 -32 -32 -24 -24 -24
PS-B-45 412|288 -32 -32 -32
PS-B-47 | 490(3.13 -40 -40 -32
AS-B-58 569|363 -48 -48 -48
AS-B-64 8.64 (4,00

(F)mi7tat L E A HE]
ik M| FAE 21501%]

D-11 Tel: 055-371-3300 Fax : 055-389-0111
http://www parker.com/korea

Hose
Hydraulic

>

Equipment

C

Accessories

O

Technical

m




Catalog 4400 KR Equipment

Hose Guards - Partek Sleeve

— s H
1t0|0{ &2|E - Firesleeve (FS-F)
o
5 a7t mtojo] EelBE= 12 TH Y EECE SAEHS
5 | 5] 9ist AaLich Tjololpelas SAR UGN BE 8 4 (e S el
2T A2, FSCEHZZE 1d & + AFH
| N
T Z: QUX|AM Tlo| FeHA Mo 2 Mo 1 1 2o ID. ol : mo|oj£2|E HAH(I.D)2 HEA| SA0
A Malz 2% 76 = dof glgLic " FEonEazo s
Fo|: m7} FSC W= £ 2in 2|Z(0.D)7Hx|
T 2 : SAE Aerospace Standard 1072A Type 2A, n¥E  AFHO
22| :-54C to +260%C (-65°F to + 500°F)
2
E
€ —
£
g ©
3 —_—
(on
w
Firesleeve (FS-F) FSC Clamp
Part Number : FSC
C (One size fits all hoses up to 2 inch O D)

421, 424, 426 801
g 431, 436, AX 701 731 804
S _|201,221FR 302 351TC/ST, 472TC 721 78C,781 | 821
Inside | 206,225 | 213 | 301LT 451TC/ST 721TC | 782TC/ST | 821FR | 811
g Part Dia. 244 285 (304, 341 471TC/ST 772TC/ST| 791TC 831 881
e Number | inch 266 293 | BXX 482TC/ST 421WC | 601 774 | 792TC/ST | 836 |881HT
FS-F-10 | 058 -4 -4 -3 -3/-4 -3 -4
FS-F-11 | 0.65 -5 -5 -4 -5 -4 -4
) FS-F-12 | 0.71 -6 -5 -6
FS-F-14 | 084 -6/-8 -8 -6 -6 -6 -5/-6 -8 -6
FS-F-16 | 0.96 -10 -8 -8 -6
FS-F-18 | 1.08 -10 -12 | -8/-10 -10 -8 -8 -10 -8
FS-F-20 | 1.21 -12 -12 -12 12 -10 -10 -8 -12 -10
FS-F-24 | 1.46 -16
FS-F-30 | 1.84 -24 -24
FS-F-38 | 234 -32 -32 | -20/-24 -24 -20/-24 -20 -24
FS-F-40 | 2.46 -24

Technical

m

(F)mi7tat L E A HE]
ik M| FAE 21501%]

D-12 Tel: 055-371-3300 Fax : 055-389-0111
http://www parker.com/korea



